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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank.

Then mark the correct choice on your answer sheet.

1-  Fierce winds and deadly waves were only one ----- many explorers like Christopher
Columbus confronted when sailing to unknown lands.
|) suspension 2) obstacle 3) shortage 4) variation

2-  In urban desert areas potable water supplies are stressed by increasing demands that
leave water managers ----------- - to find new supplies.
1) discouraging 2) refusing 3) invading 4) struggling

3-  The sense of smell diminishes with advancing age—much more so than the sensitivity to
taste. This -=—---eeeeuee-- may result from an accumulated loss of sensory cells in the nose.
1) decrease 2) merit 3) ambiguity 4) defense

4-  True, all economic activities have environmental consequences. Nevertheless, the goal of
shrimp producers should be to reduce the -------eeeeeeez effects on the environment as
much as possible.
1) indigenous 2) competitive 3) deleterious 4) imaginary

5-  Like most successful politicians, she is pertinacious and single-minded in the —----eeseeeeee
of her goals.

1) pursuit 2) discipline 3) permanence 4) involvement

6- Knowing that everyone would -------e----- after graduation, she was worried that she
would not see her friends anymore.
1) emerge 2) conflict 3) differentiate 4) diverge

7-  Certain mental functions slow down with age, but the brain -------==--—- in ways that can
keep seniors just as sharp as youngsters.
1) composes 2) conveys 3) compensates 4) corrodes

8-  Itis argued by some that hypnosis is an effective intervention for -------—------ pain from
cancer and other chronic conditions.
1) displacing 2) alleviating 3) exploring 4) hiding

9-  Children who get —-----cmeeee- -- atmosphere at home for studies perform better than
students who are brought up under tense and indifferent family atmosphere.
1) favorable 2) valid 3) obedient 4) traditional
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10-  The post office has promised to resume first class mail —----eeeee- --to the area on
Friday.
1) attention 2) progress 3) expression 4) delivery

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Colette began painting while she was still in her youth. (11) ~—mmmmemme -~ 1970, she
completed her first performance with Hommage a Delacroix, (12) - was
the beginning of an artistic career (13) ----=---=--—--- to the oneness of art and life.
(14) —mmmmmmmmeeeee . actions and performances on streets and public squares, followed by
her "living environments” and the "windows". (15) ~===emmemmx --— in a selected pose
with an elaborate arrangement of fabrics and lace.

11- 1) Since the year 2) During a year of
3) For a year of 4) In the year

12- 1) that it 2) which 3) that 4) it

13- 1) devoted 2) was devoted 3) to devote 4) devoting

14- 1) Street works then came 2) Then came street works
3) There coming then street works with ~ 4) With street works then to come

15- 1) she remained motionless 2) that in there she remained motionless
3) in which she remained motionless 4) that in it motionless she remained

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Edwin James George Pitman was educated at the University of Melbourne, graduating
with B.Sc. and M.A. degrees. He was acting professor of mathematics at the
University of New Zealand 1922-1923. then tutor in mathematics and physics at
residential colleges of the University of Melbourne 1924-1925. In 1926 he was
appointed professor of mathematics at the University of Tasmania, a position he held
until his retirement at the end of 1962.

As part of his duties at the University of Tasmania. Pitman was required to offer a
course in statistics. He was also consulted by experimentalists of the Tasmanian
Department of Agriculture about the analysis of their data. These circumstances led to
his studying the then new statistical methods and ideas being developed by R. A.
Fisher. As Fisher's ideas were not then widely understood. Pitman set about mastering
his work, in particular, Statistical Methods for Research Workers.

Pitman became interested in testing hypotheses about means without any
accompanying specification of form of population distributions. He examined the non
null distribution of the test statistic for what would now be called the permutation test,
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first for the test of equality of two means, and then for tests of several means (analysis
of variance) and of correlation. The results are given in three papers.

This work on distribution-free methods culminated in the lecture notes developed
during a visit to the United States in 1948 and 1949. These notes, produced for the
lectures given at the University of North Carolina, were never published but were
widely circulated in mimeographed form. They were frequently cited and undoubtedly
provided a starting point for much subsequent work in this field.

However, Pitman's first published papers dealt with basic theoretical questions
arising from the work of R. A. Fisher. His first paper not only discussed the
applicability of the concept of intrinsic accuracy but also established the result that
families of distributions admitting a nontrivial sufficient statistic are of exponential

type.
16- Pitman received his M.A. degree --------—- e
1) from the University of Melbourne 2) from New Zealand
3)in 1922 4)in 1923
17- He offered a course in statistics in --=-—ee-eeeeeee,
1) Melbourne 2) New Zealand 3) Tasmania 4) London
18- He retired —----ceceeeeee,
1)in 1962 2) in Melbourne 3)in New Zealand 4)in 1960
19-  Pitman became interested in —-----eeeeeee -
1) regression 2) permutation test
3) probability 4) combinatorics
20- His first paper discussed -----=-v-munv ;
1) independence 2) complete statistics
3) correlation 4) exponential family
PASSAGE 2:

W. S. Gusset entered the service of the Guinness brewery business in Dublin Ireland,
in 1899, after obtaining a degree in chemistry at Oxford. with a minor in mathematics.
He was asked to investigate what relations existed between the quality of materials
such as barley and hops. production conditions, and the finished product. These
practical problems led him to seek exact error probabilities of statistics from small
samples, a hitherto unresearched area. His firm, which would later require him to write
under the pseudonym "Student." arranged for him to spend the academic year 1906-
1907 studying under Karl Pearson at the Biometric Laboratory in University College,
London. From Pearson, Gosset learned the theory of correlation and the Pearson
system of frequency curves. both of which helped him in developing statistical
techniques to analyze small-sample data.

“The study of the exact distributions of statistics commences in 1908 with Student's
paper The Probable Error of a Mean™ wrote R. A. Fisher in this famous paper which
came from his period at the Biometric Laboratory:

1. Gosset conjectured correctly the distribution of the sample variance s* in a normal
sample.

2. Unaware of work by Abbe and Helmert, he proved that s’ and the mean X of such a
sample are uncorrelated and conjectured correctly that they are independent.
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26-

27-

28-

3. In essence he derived the r-distribution named after him, as a Pearson type VII
frequency curve.

Gusset (“Student”) received a degree in chemistry —-------eee- —

1) at Oxford 2)in 1900 3) in Canada 4) in Australia
The word “pseudonym™ in paragraph 1 means

1) first name 2) family name 3) real name 4) false name
What was Gusset’s pseudonym?

1) William 2) Sealy 3) Student 4) Teacher
He studied under --—=-r===m-mmnx,

1) Fisher 2) K. Pearson 3) Helmert 4) J. Pearson
He introduced -----==-===-- -

1) Cauchy distribution 2) Gamma distribution

3) t-distribution 4) exponential distribution
PASSAGE 3:

In mathematical analysis and in probability theory. a o-algebra (sigma field) on a set
X is a collection of subsets of X that is closed under a countable-fold set operations
(complement, union of countably many sets and intersection of countably many sets).

By contrast, an algebra is only required to be closed under finitary set operations.
That is a o-algebra is an algebra of sets, completed to include countably infinite
operations. The pair (X . F) is called measure space and elements of F are named
measurable sets. On the other hand. x is called sample space and every element of
sigma-field is called an event.

The sets of all measurable sets would be ——----mmeeemem-

1) X 2)(X, F) 3) (X, F i) 4) a sigma-field
An algebra —---eeeeeeeeaen

1) is the sama o - hcld

2) is closed under finite conditions of set operations

3) measures space

4) is a measurable set

A measurable set i§ —----meeeeee- -

1) a subset of X which belongs to F 2)X

3)3 4) (X, J)
An algebra is closed under ------ceeeeeee,

1) additivity

2) countable-field set operation
3) complement. union and intersection of sets
4) countable additively

The word "event" in the last sentence means a ———---—emeemeee,
1) measure space 2) measure
3) measurable space 4) measurable set

e ey e bt § 93 st 3] (gt JLS 90 5 bbbl § Sl gt s



¥ Axao

duid 3] (guibinit JbS 69 I (gunihi Gl bt § Gl g

(Y a5) jlel g0l

9us j T (lee (8l o lUT it o oSy 3 oyt pilo (s 1 5y p3le (ileo s pipas b)) w0l og)0

Alas lim (r(-xe“‘)+f(x"—x°)+r(x'-x')) Jade ol . lim f(x)=2a g ail o8 abi f 51 -¥)
- -

X—»o

A

a (\

-va (¥

—-a (v

va (f

foml |, Ran gy plas

R

b3 (
n:“,In n

o \

n=\ \4-

>

2

n
n=\Nn+¢

nn

(F

plas Y'(o) + /() ke o1 (S Goweo cos(f(x))+—A‘_—(f(x))r+Tf(x)=\+.\ Wolee jo f ali 51

Yol

n
— ()
T+#

n+¥

(v
YR+ §

n+ 5

(Y
m

Ym+7

(f
n+#

Coaw! plas f(%) o1 ()= X (Yn+n" X" 1

n=\
A ()
(¥
\o (¥
VY (F

-YY

¥

-Y¥

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid 3] (guibinit JbS 69 I (gunihi Gl bt § Gl g

Inx
Yol play [\,c"] 2jL o X jomo g ¥ =T PP SR TRLPRE S UE S FRCES PRV of
X

&)
¥ (Y
Y (Y
Y (Y

Cal plas [1,7] 550 50 f(x):I“\[tf_—\ dt Cove Jsb Y5
R
2w
AL

_("-

sl plaS Slaise oawe U X"+ xy +y7 =1 Wolae &) pds alol o yioliss ~TY
Jr o
Wr o
¥ (r

W
Ypx v ¢ =)
Sl plas’ I I ° (x"+y') Ydydx ,laic -YA
ovX

Jr-1a
Y\/; 41
Vr
\+\/; (¥
fCwlplaf X—y+Z=0 gX—y+Z+F=0 Olnio gy X' +z' =4 Glgiw! & jgamo gun> px>  -YT4
yym ()
Yem (Y
VAT (T

an (f

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid )] (guibiit JbS 69 (gundi Gaiel bt § Gl g

A axio 130F (Y a5) Lol (y9051

'+z'—rax-\'ay=o s X+Yy=Ya slaawg, S pdn bad ge C 51 -F.

Coawl plas § ydx + zdy + xdz
C

)'.\5&.0)‘3&'}%)0 x"+'\'

—vJyma' ()
—Jyma' (v
Jrma®
vJrma® (¢
el au S olas BCY s ACX gudbali f: XY s o9 -F)
FANTT'(B)=F(A)NB ¢
F(AUE(B)) =f(A)UB
f(F(A)NB)=ANT"(B)
f(F(A)UB)=AUf™'(B) ¢
b gl Ll S FiX Y uls o8 -FY
VA,BC X (ANB=¢=f(A)NF(B)=9)
Fowl G yo & 3 plas
s S 4 S Loy Jy ol Loy £ (1
Cans Ly Lag3) g ol 5 a0 S £ s (¥
A;M‘L;x,.&gg&ifet(\'
s Ligy o S 4y G Lagy) £ asls (F
Foaml Gy 4 ¥ plaS i A 5l acgome )0 olgo soal, T gR S oy 5,5 -FY
To(RMNS)=(T=R)N(T=S) ¢
Te(R=8)=(TR)—(T=8) (v
(RUS)=T=(R-T)U(ST) ¢r
(R-=S)osT=RoT-SoT (¥
plas ;5 8,158 e Jaoyd il b F: AR ARGl b slosl dcgaxe R wls 5,8 -FF
foawl 4 ¥
ol A las! @ aie @ 3 i dlasl dy siie L icude slasl & uide 8 9 € ) sloan ¥ o
Syl s Al glalai gan o f aU
VavVL3Jedd3x(xe AAa|x—a|<dAa|f(x)-L|=¢g) (\
VaVL3e VoVx(xeAa|x—a|<d=|f(x)-L]|=¢g) (v
VavVLVe3dddx(xe Aa|x—a|<ea|f(x)-L|2d) (v
VavVL3dVedx(xe Aa|x—-a|<ea|f(x)-L|28) (f

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid )] (guibiit JbS 69 (gundi Gaiel bt § Gl g

§ axae 130F Y.y a5) )lnT U,"Ji

2ias UB Jg el Gl po) usea B )l glasgeme »j LA & Conl pgpdo (ol & A<B oS (53 -FB
foaw! G yd 4 38 plaS A < B 51 .0 ()1 po) Saspd A I slasgome
280525 A 4 Bl oliy sl s ()
D) g By A 5l ligs ali g (Y
3)ls 329 A 4B I a4 S &l S (T
0,0 052y Ly o S 4 S Al SUB g A o (F
feanl Jas Joasi 5 RY @ RY 51 05 2olei 5l Saplas - F5
T, (X, Xy ) =(XXy 4 Xy) ()
Te (X4 X¢) =(X, +1, X, +)) (¥
Ty (Xys Xy) =(X, =X¢ =1 ,0)
Te (X,.X¢) =(¥YX, + X, ,¥X,) (F
Vi 3 ygkiie) Yluuwl pluy vi ,_SL.A»."».\’:{(y&\,xY Xy 9Xg) 2 Xy + Y Xy +xr+x,=o}ng.».,'.SUé,'e -fY
(ol RY 30V salaza shas
{(a.va,b,b)la,beR} (
{(a.va,a.a)lacR} (v
{(a.va,b.c)la,b,ceR} (r
{(a,vb,c.d)|a,b.c.deR} (f
39,1 3923 yhol yaie S Lo A jlaw 12 50 &5 AEM,, (R) wiiS o9 —FA

o ) o s o
) o Y v 0o
A=
] o 0 s )
_(\o)“‘ o o - o]

Yol A 5309 ylade o j las! 31 SGplAS & jauo !y
\ (Y
\o (¥
Vo' (F
o )03 O g p ) widges mhy o] daw 93 2 a5 Al ) g ) Gl b AXA ke A ais 55 -FA
Yol plus det(A)
A Q)
A"

A

AT

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid )] (guibiit JbS 69 (gundi Gaiel bt § Gl g

Vo dxao 130F Y.y a5) )lnT U,")i

fome! plus’ rank (adj(A)) o851 .ail rank (A)<A s AeM, (R) S -a-
> ()
Y (Y
A(Y
\o (F

sE+F={x+y:xeE,yeF} 5L R )loyl,—F 5 il sl—ta—scgazmep; EgF .51 -0
f! Gy a0 ¥ plas (EF ={xy:x € E,y € F}
sup(E + F) =supE +supF ¢
sup(EF) =supE -supF (v
sup(EUF) =supE +supF—sup(EMF) &I ENF#¢ $1¢r
sup(EMF)=supE-supF «&1 ENF#¢ 2 (f

\
Yol Cawyd ag ¥ plas’  ay —ap \ 2———— n2) » glpglima, =0 S -8Y
n

n(n+")
\ 20
Ap 22— N ,» gl (Y sl | Ko Z\/[an| Sy ()
1 n=\
\ C
a, < ; N e gl (F ! | o Z Ay g (7
n=\

R 4y plas -BY
ol s iiten Aok S 0 LS a5 Cuil 09290 IR 2 R &b ()
sl | R0t {l‘(ﬁ); Ao WAL S axte gl F1(e,) > R &l 81 (Y
W] g po! Slasl o g5 a5 Sl 3g2ge FIR R &b (¥
F(xX)=[X](cSXSY) & el sgzge [ [0, Y] DR iy ante abs (F

PR 3 r x' Ledx w
3 @YU glay JISS ey b=I f(x)dx 5a=If(x)dx s f(x)= : S Py -OF
=° ° o ‘Q-aﬂx
Tl Gy 4y 3 plos . wiBL ol
a=b=o ()
\
b:-r»ta:—(\’
f
\
a=b=—(r
f
\ \
b:—td:—(f
o t

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid )] (guibiit JbS 69 (gundi Gaiel bt § Gl g

1 axine 130F (Y a5) jll g0

ol o yob 4l 35 plas

sl 1020 g (1SS wign Al 90 2 Faae ()

ol S8 Wlugay bl alls il s gxie F:R R 51y

ol CS 1SS wiigy eSS g 2l 90 o ol (Y

OEURT Apeamuns W ) [FSe F(x):L\ F(t)dt ab oSl atl glas, i 1551 [a,b] 850 ;o £ 81 ¢F
|

Suet ) b i ganals S 50 gyl (3 5970 9 el (B> B, b Had Yol olfiws S S (558

10'T Ly il 0lR5id il i gt il CIl> Sz J1.308 Jo 1077 U ol i Shke! shlai (g1 oSy

Fom! 1A 12510 suiel Cawd & Wlga 53 dlesel B 303 slagd slawi o8 T (il

Y (Y

Y (r

Vo (f

] plaS € jlaiie bl 350 I\(x" —exT )X anilne gl glaii 195 g o8 1,01 Bl aSu! (gl
(O
(¥
A3

\
A
Y
Yo
)
Yo
M.

3
iR £ 5 oS T 19 1, Rad X Conte 06 S5 4y X' —YSIN' X =0 alas Jo (sl g0l 9 !
foaml plas  ilno
V()
Y (Y
Y (v
\<p<Y ¢p(F

Jols glhas U o )5 sab Jgus wbh o8 Job ax L1, [o, ] 55U 9, f(x)=Ysin¥x+Ysinyx+x' &b

Rid- s i -F . - .
f39id yidow Vo 7 5l s (glasT Db yg)0 3l

o/00% ()
o008 (Y
opoot (¥
op00d (F

-00

-of

A

~OA

-84

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid 3] (guibinit JbS 69 I (gunihi Gl bt § Gl g

1Y axio 130F (Y a5) jll g0

Ly @(x) =X+ Bx" +Cx" a5 n=0,),Y .. X, =0(X,) ©ys0as Coli i )55 3 Jool> ULis -5+

\
F o Cmd (o pRe Ao b — & aS90 D jge0d 1 )1,50 45 will 4igfa C 9 B culpd . oSl 50
o
(! o 20 1) Yigd | Ko
B=ya" , C=v(
B=ya . C=a' (v
B=-ra , C=a' ¢
B=y 5 C=Yo c
0900 i 0 )8 iy 09,5 ¥ 90,8 90095 D ) G559 Yo (lgi oo @iz -F)
Yo!
—T— (
(v!) (o}
Yol
(!
Yo!
s ¥
(v (o}
Yol
(xH(ah'v!
Oeile g WAL Yl diged 4L (0 J S 9 VT 2l (QUIY Solal digel O dilee g (paSlee 2> ST -FY
Canal A5 39 0 3> YV U Wiges dzbly o0 S50 &5 a3y ailao
YO ()

\

41

(f

YY (¥
Y0 (F
YE (F

vy oyl 4l Jliol oS o0 7)1 @)L pan 9 TSl 4 W Lin gleoyled b g m 1 -FY
flaw! plas (all Al gl puegd jl i SS o5 slolels

~~ _~ ~~
% - —

~~
-

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid 3] (guibinit JbS 69 I (gunihi Gl bt § Gl g

1Y axio 130F (1YY 05) slol ¢yg0j]

BT LU L TRy VEPSUE RS PERNGW] BUUY-SWE-JVIFE S| Fewy SV ¥} ‘LS'-J oy ¥ ojoyd 0y ¥ O Jol 3, -FF
Sl AT 395 A 3k 51 33 hadas 0 o (rmogew 4531 JMaio S g0 2515 0 0 b5 31 51K L

A
(\
a

(Y

—

O
v
o}
— (Y
YA

A

Y

\
sy P(B.)=: & 2l glaige glad SO g9y Jiee glaasli B, By,..B, o5 58 -FO
1

foww! plas s 7 basliw ! 5l S L&Jo Sl il .ol i =1,Y,...,0

\
n+\

€l p105 € Jlade ol 13 Jloso! JI8> 2ol b Bl puiio o X S 58 -FF

Y
f(x)=ct™* , —0<x<mw

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid )] (guibiit JbS 69 (gundi Gaiel bt § Gl g

\F axio 130F (1YY 05) slel ¢y90)]

Seant oIS P(F(X) =q) 086X ao395 @6 F 3 X~Bin(),p) auis o9 -5Y
qao
q"
p
p(f
S i 25 9 iy B (1) s 8595 o S OLss 5Lt paitio Xy goney Xy 08 53 —FA
n
Sat plaf’ P(Ny=Y,Np=¥) oo Ny =D X;
i=)
vop'q” O
rop'q” (¥
\‘up°qr (Y
vop'q" (f
ol plas Y =[0X] )9 abl (raudo 30s SO g (04)) 85L (59, SS90 aujg gl X us (0,8 74
(X zamo e3> =[X])
O3 Nyeees 11— ¥} lodegana (54) o ilgaSs ()
0y Vyeees 4V} Ldsgone (59, 5o SulgiS (¥

IF o)
1 '-'.\.....I'I}Lbas’o.zu Lg”}.gu}l,.& (Y

——

—

| ER | Y
""‘.\.....n - \' Lmu,w S8y » “">‘9'~Si (?
39 U,.:.'.o\s.' ’CSL;) ‘SCJ‘!l ‘.’..)_}Q; Jl.g.‘.‘.>| J.f»bu.o ey T »‘, \oo CJ,.&;& 6.».’,; »‘, Yoooo jl -Ye
il plas all ol Voo dige SO

Ye ' (f
(W83 o (L& 1) t s ¢ 32 [t] ) Towul plas T=[-X] Jio! b b X~Exp() ass 22 -W
)

t=—\,=Y,... gl (0 —e')e-Y) v

t=—\, =Y, glp e (\—€”'

t=—\,—Y.... glpe'(e=Y) (*

=414V, glpe (e ") F

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid 3] (guibinit JbS 69 I (gunihi Gl bt § Gl g

18 axio 130F (1YY a5) kel (90l

i Al olgtd g ol il IR DR g A pfilan b (ygulys Holai puiio S X ais 2,8 -VY
E(Xg(X))
E(g(X+1)

A ()
A=) (v

AT r
MA+Y) (F

Yol

)
Coal plas P(X 1) jlade sl M (1) =E(e'+r)' byl X 5olads Wae asli anS 5y -VY

Y
A\

— (Y
Yy

A
AN
Y
AN
Y =a+bX+eX" dolai paiio ciyw b bl 0ylaitin! Joy aa5e5 61y X Bolai peiio oS o8 -VF
fowwl plas corr(X,Y) ,lads

yb +ve
b+c
Jb'+rc’
fol plas cnv(.\’{ yX") Hlads .ailb N(e,)) asje Jf Plai dged S Xy X 0SS 58 -VO
($Migas puiteo = X))
n+\

(\

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid 3] (guibinit JbS 69 I (gunihi Gl bt § Gl g

V¥ axie 130F (1YY 05) slel ¢y90)]

[X]
V+[X]

Y
Iyt o s3> [t]) feal plas P >;) e bl p; Jis! JKs ali gl X oS 2,8 -V

(223 0 yLiS

\
f(x)= , X>o
(V+x)

~~ ~~ ~
= = =

4|t |- t|— =< |—
~~
-

Jlaio il {1, e s D} dogazmo 59) g L @09 b Jhiums Holal yaiio 90 Y 9 X 0 (53 -V
el plas P(X<Y)

Y

n' -\

(Y
n

n+)\
m
n—)
n
tal plas’ E(X 41| X=1]) e .adt X~N(),) oS 28 -YA
=Y ()
=\ (Y
\
Y (F
83 5 Bolai a1y 5550 30e L D o0 Jled X U 1) T g Gliil (0,1) 53L 51 Bolas s 1) gous -V4
foww! plas P(FY > X) ,lade (ol pgd dadi oo Solai jurie JSL L X Pl o ol (¢, X)

~~ ~~ ~~
= = =

|t 4| - t|—- % |—
_~
-

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid 3] (guibinit JbS 69 I (gunihi Gl bt § Gl g

W axio 130F (1YY a5) kel (90l

’ \
foawl plas cov(X,Y) jlade wil Y| X=x~Exp(—) § X~Beta(Y,)) w5 2,8 -As
X
(\

\
A
\
=/ E¥
ﬁ
\

(Y
YA

\
\F

Pl X+Y ¢ X=Y Ml g1y S5 903 byl .aldl o piiogs Jboy a3e8 bl (X,Y) oS 28 -A)

el

var(X) =var(Y) o
E(X)=E(Y)
var(X) =var(Y) s E(X) =E(Y) (v
Nl s o)lgen (F
P(X + Xy >0) jlade adl 5 ojgon Xy 5 X| Holad gl puico plyi jolidS wgo ali wiS (558 AT
ol plus
My, xe (tsty) =exp(%l\ +%tf+%t§—%t,t,)

R AVANE

o, #\0 (Y

o ¥oAd (F

o FAYY (F
E(X(y)) slate all pj Jleio! 2l b X ol paiin jl (oligo (PHolad dged O X, Xy auls (o8 -AY

¢ el plas
X -V | o \
\ \ \
x| = | ==
) ¥ Y'|?
\
— (Y
A
Y
— (Y
A
Y
A

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid 3] (guibinit JbS 69 I (gunihi Gl bt § Gl g

VA axieo 130F (1YY 05) slel ¢y90)]

fowl plas lim PlY <nX]| jluie Y|X=x~Bin(n,x) ¢ X~U(e,1) ,51 -AF
n—»®

41

\
¥
\
=)
Y

—

(F
! r‘-’-‘% (soilme) s> @039 X~ L) S5 23 —AD

) adais ;0 ounals ()

o a3 oauals (¥

N(e.)) (r

S, ga> a9 (F
Xy =min(X, e, Xp) S sl 5 Jis! gl 5l Hokai glaiged Xyyen Xy a8 58 -AF

= Xy+..+X,

fouwl plus (0,a) Sy onduw S)lni il X= 3 X(n)=max(x, .,...,Xn)

n
f(x)=(0-0)0""% ,x=a,0+),.. ;0<0<),aeR
Xy O
(X(y)-X) ¥
(X X))
(X(yy+ X(n)) (¢

flaal p1aS 0 Jlowis o0 0 kol 0l ) Jlesa! JBs> 2l 1 Solai diged S5 X ey X aS 28 —AY
(sl 3w Jlo yi ol due S K)

fdx):chp{—(x-—G)‘} ,XeR;0eR

n n
(in .fo) 0\
i=\ =\
n n n

(in Z:\;r .in') (¥
=9 =1 i=\

n n n

(inr Z\TZ\T) (v
i=) i=\ 1=\

n n n

(in Z\: .fo) (f

i=) i=\ i=\

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid 3] (guibinit JbS 69 I (gunihi Gl bt § Gl g

4 axio 130F (1YY a5) kel (90l

plas E(M(XX;)) jlade .adl z 595 aibee M 81050 N(0,1) 3l Solai slaiges Xyyuey Xy a8 (258 —AA
ol
vX @
M (¥
X (v
2X; (f
003510 18,55391 1 i it B 3 B 51,080 U(0,0) quj95 31 ok digei s X yueey X 0 (53 -AQ
Cansl o148 COV(D 40) o Wil B (slyr (5 39bid g galodiunys
Y

7n

no"

(n+Y)n+1)
eT

(¥

0\’
—— (f
(n+Y)(n+Y)

ol 5045 abl U(07,0) aje il Holai diges Ky slaaidl o,Y8 g 008 0,V (04 (o) ais 5,8 -4
fow!l plas” 0 golyly (sl (ML) oleccin 3o pos 35 (510)3 551 p .ol BE(0,))
o/ (\
o F (Y
°,¥0 (¥
F.0, ¥ (F

x Y.
0501y Oelo.;l ol 30 &5 all Bin(1,0) a9 3l Holai dgei SO Xy X alS 58 -1)

X

- Y
max(X.=) (v

Y

=iy, 3y
—(X+-) (¥

Y Y

min()—(.l) (f
Y

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid 3] (guibinit JbS 69 I (gunihi Gl bt § Gl g

Yo axie 130F (1YY a5) kel (90l

)
plas 6 sy UMVUE .uib ridis! JBs b b e jl Holad Lgai SO X,,...,Xn WS paé -AY

fe(x)=9(\+x)'“+9’ s X>0, B>0

n
\
—In ) (\+X;) (¢

¢at plas 0 ,zal b UMVUE a2t N(0,0) @395 51 o30bai Dgei Ko Xy ooy Xy oS 258 -Y

\ (in)\' ()

n(n+y)
\

n(n+\)
\

X))

X' v

nn+y)

\
X (¢
n(n+y)

§ ol plas’ e? yol)b UMVUE .oib N(0,Y) a8 jl Gdolai digei S5 X4y X wiS 2,8 -AF

T |
X+—
e D)
A \
—(X——)
e ™m (“

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid )] (guibiit JbS 69 (gundi Gaiel bt § Gl g

YY) axio 130F (1YY 05) slel ¢y90)]

)16 3591 33 53 9l m ol el (4,5 .aSL Beta(0,)) a9 )l Holai Liged S Xyey Xy 9 29 -0
Scaml plas ¥(0) = Py (X, >€™") 2l
ec—()
n
nbe ¥ (v
n'e ™ (r
ewe—\'e
n
S5 Al palae G g palueli 1 yralyl b Joy Y ajei 3 GBobai Diges Ko Xygers Xy 4 2y -4F
Sylwibinl Joy ajg (1-a) Swiz Zy_g ) ‘ol plas B=eH 1y a0y Yoo (1=0) lineb! alols

()

(f

(P(Z22y_o)=V\—0 S ol

\ o \ o
—>hX;—=2 —YhXi+—=z
& i L o L i o
n v \—— n N 1) R Y=
e T<0O<e Yo
c o

=7 - =2
o a
B vn o \—

Xe Y <0 <Xe Yoy
G —‘-,\_;hl Xi e} -\flln Xi
o AN <O <—mz €8 (r
\/[T \——~; \/—E  Volac

Y
n n
‘ Eln =l <9<\ El +—c (f
1 C ] o
nea Vn \—f n<= Jn =

polancl 6T, g pelae a> 0 ;T ;045 N(p,a"0") aujei jl oU N B0l Gigei Xyyeey Xy S 5,8 -AY
sl plas p glp gaue o Yoo (V=) bl dlold O s

ZXi 'P(TS‘(HZ\-Q)) =\—-Q dﬁ” eaw! t(l’l) &)’! - Ju\-\?' '(n;\_a))

o
\
=l-o

\ i
(.s*'=“__‘>:(3~ci—xfr

- S _ S
(x-t a 7= X+1 a. =) O
(n—\:\—:) n (n—\:\—:) \/;

t = X+t aS) (¥
(n—\:\—:) \/; - (n—\:\~(:)\/;1-

(X—1 XA+

2 = ) (¥
(n—\:\—%) a\/a (n—‘:\~%) il\[l;

= ag asS
(ax—1t o —= .aX+t o —=) (F
(n—\:\—;-)\/n (n-\:\-;—)x/n

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid )] (guibiit JbS 69 (gundi Gaiel bt § Gl g

YY axio 130F (1YY 05) slel ¢y90)]

plo o9 el brda Jsl g9 slas QW) Jleiat Gl ioygm g = coind (bl a8 (9051 53 -AA
e &5 39l 00 a2 g0« Jolge
2l el el g ()
Al Gl e g5 sllaz LIS Jlazal (Y
b a3l geil ol (7
\ )
H, :9>; Jlie o H, :95; dwd i bl ) Jeaa! ali jl dolad Liges G X, Xy, Xy w58 -44
r

0 <0 <)) Yol plaS a0l 8305l .adb Xi>F olf 2 0gd 0 0
Pl a0yl 0 ) i 2RO g d)
=

X=x - Y |y
-0 | V-0
Y Y

q
— (\
\YA

v
—_ (Y
\YA
AR
\YA
14
=i

YA

x'x 6‘& Xi Slasy x'}_a Nj ;‘ W P 23 Jl.w‘ éabbu.u)’; j‘ u.i.)u' b,nag‘.g X,,...,Xn ..\..Juo’l ~\ee

Prolep Sl 4ol (Hy:10=0,(>0,) blie 0 H,:0=0, 59 g90)] slp bl j=),Y,F L
(e <B<Y) ! plas’ u,n)i

X \ Y Al
Po(X=x) | " | Y01-0) | (1-6)"

N,+YN,=c ()
YN,+N,=c (¥
N,+N,=c (v
YN, +N,<c (f

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid 3] (guibinit JbS 69 I (gunihi Gl bt § Gl g

YY axio 130F (1YY 05) slel ¢y90)]

0903l @lp O b 0 ee3l (2P0l 2 G0l &L By @ie @ G X saalic ST als o8 -\
foaw! plus Hy 20 =Y Llie ;0 H, :0=Y 2,8
Fy(x)=(0-¢)? ;x>0 ,0>0
| (x) O

(+,—Ina)
I —In(-a)) (X) ¥

l( Inﬂ.x_)(x) (¥

Lo ooy X) @

\ \ . 3
ole H,:G =; Jlis yo H,:0 =I P2 090yl Gl alb (b ool slaws Jas) X~Ge(0) asS 2y ~\eY

foaw! p'..\.f (l=°/“'5 eh.w » u,a)i CJ“!JJO"':}".

~~ ~~ _~
= = =

>|< >|—- 46|t 5| —
~~
-t

&bl eanlinasT oy X s (58 pied il R (59 diwgn 20598 @b 99 G(X) 9 F(x) s (58 )Y
ool 5110 L je 3 e3lails cpl .ol B E(0,)) o jo a5 ait Hg(x)=0F(x)+(\-0)G(X) ;e
(9aad G 3 F iy slap joi @b sl Jless! J8> b g o F) fadl 0 slo bl 4> ;0 MLR
T(x)=—2)

2(x)

T(x)=06, f(x)+(1—0.)g(x) «
T(x)=f(x)+g(x)
T(x)=0,f(x)+(1—0,)g(x) (¢

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid 3] (guibinit JbS 69 I (gunihi Gl bt § Gl g

YF axieo 130F (1YY 05) slel ¢y90)]

Commnd (39031 ) & H 10=Y Blis j0 H, :10=Y 5,3 ;09051 gl wdl X~Beta(0,)) wos o) -)of
fewl la 1, ((X+B) p3d 3 Jgl &9 6“‘5 & o Jladie U!)““S ) 6"‘09‘“5‘ IS plas ALRT) @Lo.'.;...;,a

\ Y
X<—0rx>-—

\
d(x) = ¥ f QO
Otherwise
\
J\ -
Y
b(x)= 41
L sel
Y
\ ¥
VX —
d(x) = ¥ F oo
Otherwise
\
\ X< —
Y
o(x) = \ (f
X>—
Y

0>o0 gi )36.i=\,...,n, ‘Yi “'P(O.‘i) ,Mb‘vﬂ)'w"-’bw LS“W Y\s--'vyn J*'Su"}’ =10
aylel Hy:0#) blie ;0 H_:0=\ 5,5 (ya0)l 5lp ok palae sl Xyyeuey Xy 9 Jotxe yiolyl
ol plos (LRT)&LW)QMU,Q)T

(>-‘ i )-—)l C‘\"\' -2 i 0\

2 X;

Z\
Z\

Z\

,__\

1 )u\l c--\l 1Yi o

')-—\l ol Yi—ZXj (¥

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid )] (guibiit JbS 69 (gundi Gaiel bt § Gl g

YO axio 130F (1YY a5) kel (90l

i add OO 1 adlais o 0l pl j0 oS Jeaxo IS é),i,g Sy el pling; ddlie aw 1)l 54 VP
Tro & oudib g pSdigal 7yb S ol F cos p pulS Jgame ()l o 0 o0 B 50 Laliws,
! 80l Cawdds 0 Jou>

adlaio | Wliwg) olons | Aiges gbalivg) Sloss | aiged glalivg, 3o puis Jeamo oyl 0
| 10 r \ Y Y =
14 Y Y Y v S
Y Yo ¥ Y Y o Y
(Z, qya =Y )t plas 0l (0] 53 palS 5 jlade 51 740 lsab! dlold Sy

Mot FYe ()
WoEYVYe (Y
Vod EFYe (Y
Vod kYA Yo (F
ol (wl I Yoo o & Solal gliges Ol gl p .00 30 I8 (0 1) p ) Olakin g adb 4w b glaxcl> )oY
fowl plas Clids 515 )8 )0 e (amads (wlul p o5V dgel pxo

4l oylah | 4kl 2> | (ST ) i iyl

\ Yoo ;/Yb
Y Ydo \7
Y do oo

B0 pgw dib VO pgo g Jsl 4l ()
V00 pgd 4l 189 paw g Jgl dinds (F
Y0 pow dido (V00 pgd ddlo (Ao Jol dil (Y
B0 pgw Aisde VVE pyo Giks (TP o Sido (F
o> 4 glaiged pli pais ¥ g N oo & Glanels pli paie Yo il (a0 (Bolad (g pFdigei S5 5o —)0A

n
il o1 (wnaler (550) ¥ g (asale 16 it l) 8 s D] (il el i
i=)
n(N-1)S"+nNY" (1
N-—) -
—S"+Y" v
N
n(S"+Y") v

MS'+n7' (¥
N

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid )] (guibiit JbS 69 (gundi Gaiel bt § Gl g

130F

Y? axao

(1YY a5) kel (90l

o 30 (Gilpl Pl caadee ¥ il asdie (ot Jlw 0 0 MWopS s coamayl o il Slaai 3591 9 (sl Ve

Wigai okl g )IAKl b g ol & (w5l &S G 1 eelye (ol 50 iledgel S e () 50 )l
sl 0090 25 \Y8 00 A cpl Jaaz U pjY digod pxa gl Wlxil diged (o Jlpl Jly Yooo U ouid )§
(Zjqya =T ) Sl plas 10905 (s 315 ool U5 Slasi (gl 728 yLueds! dlold Sy

Y"'?Ym (\

\'\*:Tm (v

YOF YooV (v

YA;TW (F

GB1a> jebas o) e ylf Yoo g9 dioyls Foo b gloylhol (LS, o 50 Cawdinz 31 3l Canund 391 2 (510
O 30 3 SR P diged BLT (o )0 &F @ledgel Ll Bolai & 1) Jai Fo beils w jl g Fo GLBT o 5l
S 39l 007 gllas 1,5 L 1) o 90 Cand padlyi )1 Wlodg Cwwvdsny 4 IV dgel slagil>
(Z;ays =Y) Spwlihe digei @ Wb 1) 500 () wie)l5 Waz 9 950 Wao)l5 a2 fogu 3L &9

OJT'A 93,0 VoY ()

O W, YAV (Y

55 1YY 53,0 YYY (T

] S g o sk P

1o uzxe Aigas ! 31 an o oS 0 N e A 551001 g oolu Holal Aigei O N > @ glansls I
0315 QLA (¥ peresY 0) b e g ST S N ez & AL e sl Holai Liges S

\ .
N
n-n
N-n'
n-n" &
N
n
\ 2
N-n
n-n
N-n*
n-n
(¥

—“Q

-

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid )] (guibiit JbS 69 (gundi Gaiel bt § Gl g

YY axsw

(1YY a5) kel (90l

09y 2H p=S51.00b (Pg) B i camd jil 99 (Py) A o Cand L slanals o wis 5,8 1YY

Tl plas PA Jlads ulb PB Camnd i 3 90 PA oW a,,i,_a 82 G e ool Solai (g S diges

(\

41

(¥

(¥

<|lvo <|- <|t < |-

S g Gl Diged oyl lad) 8 Slawd oL YO0 eolw Bolai diges SO 50 .0, wiayls YD o (glo,lal

RERCIRYY
- ol v | ¥ |y
i
Sy do ‘oo Yo Yo
O) Yo Vo o | &

Gl 00l Jol> 5 e zull 9 Sl a5

YauS o0 a),ix F i lye bl cwl 4o )5 QS lady 8 IS olaxs sl ol

Yyoe ()
YFO (Y
YPO (Y
YYD (F

@ slaiges Yoo pao & glamels ;0 Lols Caw 3591 p 1y 5NN b osle Holal 5 pFaiges Sy 0

3390 » il g WBb 0,01 ply amol 3 Cammi cpl F3)51 0 (ilyly I 0591 3 5T @laid )5 YO o
]y Aol )8 Canmi (91 9581 1 3483 Hlado .l 08 I yiaS anol> 10 i 3 )90 Cann

o) ()
TARAL
o,/ (¥
o,F (F

-1y

-\\¥

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid )] (guibiit JbS 69 (gundi Gaiel bt § Gl g

YA axio 130F (1YY a5) kel (90l

Qo ol Zy i 5 & Jekde Ll j0 wieyls Yooo o a5 3,10 39249 o,l81 o S5 b 30 -NO
SlIol ol 51 i )18 51 s g wiloud LR ylads )5 Slawi b cawliis Jlaial b g 6,00 L Bolai
iCamw! ol Cawdds ) SleMbl o5 1ol Slelo yauti 3590 5O

o b \ Y Y ¥ 4
u‘d*n)lsé‘-\-u" Yo Yo fo Yo Ao
o)|.>| x‘..\a )b Alxe .}l‘,n a.l',.o lxo a.ll’,o

] pIAS iy IS 30 (510) Sileles yuuii 2 b b @190 Ll pae 45 1101 Slasi 54
Vo ()
VA (Y
YF (¥
Yo (F
ol D08 1 Xy (59Ruy yuiie B ol i B (lime Gl yuiie slp Alain (Jad (9aw )Ty Joe Sy p0 -1V
Wl 0 (A 25 Al milo (3391 Xg g Gmble (25 Xy smile Jgbo iXy sl
Y=Y —0,/A4X, +0)AXy —0,)8Xy —0/0 VX
WSl Sl o paiie il a5 (289 Gile Job 30 g 0y U (5151 (i B e )0 i ansgie 891
fowl plas
—o\A ()
o/AY (Y
oA (Y
Y# (f
g var(g)=0" \E(g)=c o ;0 & i=)yuyn ¥ =B, +B\X; +8; ool s cem)F) Jow j0 Y
fAS oo @ave ) ) 51 GG plas 50 (ej) Jaw glaosile i# ]y glila cov(g;,8)) =0
ldi o8 5 3,13 Sl by ()
il ool g 255l Sob b lg (F
dildoy @ g 3l Sul Wl lg (7
laiy wab g &jlas Sl il g (F
Julxi Jauz 0 F (903 0)lel jlade .cunl ould Jolo 5 GleMbl aods oUY  Solai iges o wlalpy -11A
il plas’ il 5l

\Y
SSX=Z(Xi—i)Y =Y¥f , I'xy=°/A ’ §'i=?+"‘i
i=\

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid 3] (guibinit JbS 69 I (gunihi Gl bt § Gl g

Y4 axieo 130F (1YY 05) slel ¢y90)]

Xi

] plaS 1093 SleT (2 FeS (Bey 4 By 8y91pid=Vuyn iy m—————
Box; +PBy +x8;

n

(X; —X)

i=\ #3

57 )L).i.n .w' Q,",-b })) Ql‘%' Ai=‘gvooqf |)’i = BO +B‘xi +Ei OJL.) ‘:h, u,_ﬁu);) JM ‘.,:l)"x )O -‘Y‘

ol plas
(Fwls ylaia) ¥ Y Y \ | ¥
(sud 3ly slado) ¥; | Y00 | 1,80 | WY | ¥
YYY (O
YA (Y
Y AF (¢

i S DN (t

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid )] (guibiit JbS 69 (gundi Gaiel bt § Gl g

Y. axio 130F (1YY 05) slel ¢y90)]

U &igind 3 Jiime BE; 45 d=)yu,d Yi=PXj+E Ojpen a1 )08 Jad e )F) 50 I
Sl plas” var(By) ol 3,81y wcat N(o,67)
S
(n —\')Zx‘v
Do
(n—\)z
Z (."i‘)’) ¥
(n—\')z:xY
Y =5
(““)Z

o Ay ey Gliae Vi ool 50 a5 w08 K050 15 ¥ =B, +BAG +Br (A X G +E; (s fgmw Sy Jae YT
! o p 5 wljlee 510 plas .Cuwl (U5 gl Gi=02 9 ol slp G =1) pli 08 cunis G
S n et a2y By o550 el damgie s (21 L ()
g 28 axly [B] v G153 L U5 oy Jaga (Y
o (P HF(By+Py) Wl £o (630 aal o anngia 5915 (F
Sl s Ll s o 055 51 130 0y Jasgie il By >0 1 (F

ojlel Jlade 1 i=VseiVo gl ¥ =Po +ByXj) +ByXiy +PeXip +8 Sniz b pgew ) Joo jo ITYF
B GgrsSy Jko gl Fusly yaiie Sy 1 jlake 4z 0l F=F  JgmusS) b3 (500 oo (39051
! iyl
IATNS
LYY (Y
187 (¥
1¥Y (F

SUY Ngoi S wlaly g Gledbl aods ¥; =B, +ByX; +ByXjy +8 Aus b eSSy 0 -ITF
fow! plas Ho iBy =By 258 0] 8 kel jlake .ol ool Cowday

'Y B Y
(xx)"'={v ¥ | ,SSE=r# SSR=fn ,|B, [=[v0
B 2 Bl L¥
\
— ()
&
5
— (Y
7
\
— (Y
.
Y
<

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



duid 3] (guibinit JbS 69 I (gunihi Gl bt § Gl g

T axio 130F (¥ aS5) el (03]

oud Juols> i Sledbl n=Y0 px> & Jlaalin g 9fiuy piie ¥ L GlTals s yemw )8 ) Al & 0 -1TO
Sl plas H, :By =Py =0 oaejl 5 L] jlaio slSST (il AY U 10 SST luie ,51.Conl

Jold Jae | Xy | Xy | X | (Xy5Xp) | (X)5Xp) | (XpaXg) | (X5 Xp,Xg)

SSR \¥ °/\ Y \f,\' Yo \¥ Yy

Yy
\V

F¥
—— (Y
Yo
or
St (‘-
Yo
FA
Yo

Gl ey e bt § 92 it )] gl 5 b 90 5 bS] § ! G s



(V| ST o g

o

duil ] el ybS ¢ 690 )/

(1YY a5) el a0

130F

YY axsn

s666 | 1ess | toss | Loss | 1666 | toas | woos | coss | coes | Leee | v

1666 | 96es | 9666 | s6e6 | 9666 | 9sss | 9666 | seee | se66 | see6 | £

sess | se66 | s6s6 | vess | voos | vess | veos | voss | coss | cess | T

w666 | csos | zoss | 2666 | 2666 | z6ss | 1666 | 1666 | 1666 | oses | ve

o8 | 0666 | 6366 | 6n6s | 6nee | wues | wwes | cnes | ches | cwe6 | o¢

1L9¢s L6808 L6 Ler 6r 81 06L 9! (313 40 (TR o 9966 9866 $866 SR66 YR66 LAY 866 868 14109 1866 L34
scees | ocaser | ozzose | osssoe | omocnr | owomr | osszw |z | ez osz | tove | svoz | esmn | nicr | 62 1866 | 086" | 6L66 | 6L66° | ML6S' | LL6S | LL66 | 9L66 | SL66 | WL66 | 8T
6605 | gezar [ oovwr [ ococwe | ocze9r | covst | westr | eemi | m oot | covz | swot | taet | cien | sz PLEE' | EL66T | Ti66 | TL6E | OL6G | 6966 | 8966 | 1966 | 9966 | $966 | LT
woer | zosor [ owsiey | etrow | tsrer | oceswr | omeszi | ovnn | e | e | ot | coer | wier | @ 166 | 1966 | 2966 | 1966 | 0966 | 6566 | 566 | 9566 | 566 | tsee | 9T
sszey | eosy | ceety | osewwe | ecest | cewer | omerzi | orn | et 6z | eeve | osot | socn | sien | o 1566 | 1566 | 6966 | BV66 | OP66" | V6 | (066" | 1966 | OMGE' | BE66 | ST
e | view | ovor | zsvee | mom | e | ezsu | o | st e | seve | oowz | mocy | 91en | sz 66 | V66 | T066 | 1666 | 6T66 | L266 | ST66 | TT66 | OL66 | 166 | ¥T
Bsesy | 66Ty | vocer | siver | wemet | tovze | oswor | eaws | wm e6e | zovz | voot | e | mier | w2 91es | K166° | 1166 | 6066 | 9066 | P066 | 1066 | BARG' | 9686 | €6D6° | €2
wiwe | seore | oscose | merse | oeoet | ossont | seror | oers | et wtr | onct ez | siend s | = o636 | csse | vass | isns | mesy | sese | weme | woss | vose | 1oms | Tt
saczy | eszov | osrer | wzecc | seezr | ozssor | ovzese | mew | - 618z | ose | weor | cict | nzen | 22 LS96 | VSU6' | OSO6' | 990K | ZVA6' | SCRG' | ¥1U6 |COKNG' | OTHE | (286 | 0T
tovir | zeens | omeese | oevze | vestt | ozazor | zews | oos | a2 187 | wisz | osoz | rzen | ceen | e LIS6 | 2186 | BONS' | COB6 | R5L6° | R6L6 | $RL6 | €RL6 | Bu6 | TuL6 | O
seo6c | 9ases | 6oree | otvee | oswor | osss | wosrs | covr | o2 ovnr | szer | ooz | szen | <zen | o2 tos | 19u6 | 9ses | oses | weee | wecs | Toee | 9t | siee | ties | &t
weee | oerof | zssze [ evror | ctror | sooss | czove | owe | @ 1982 | ecsT | veor | szen | wecn | ot 0LE | 6696 | (696 | SAVE | BLOG | 1L96 | V996" | 9596 | 6996 | 1996 | K
osiee | somve | ozere | eowsz | sosce | cozw | evior | veze | wm 28 | zsst | rore | eeen | oeet | m SE96 | ST96° | 9196' | NOSK | €456 | N6sg' | 2ase | Kus6 | 0906 | 0566 | L
sicse | osowee | vevoc | ceser | oesn | wese | wovs | evs | o sest | eoct | orve | onet | sect | o svse | sese | szse | sise | sose | seve | veve | wive | covs | Zsvs | 01
wree | es6ic | svanr | versr | oivse | ooss | zziss | s | w 16z | eost | ozve | over | eect | 91 1ot | 6zvs | sive | ovs | vete | zees | oees | eses | svee | 2ets | st
torze | usoc | swvez | seeve | eoore | vzsre | cezzs | ooow | st et | oz | vae | sci | v | & 616 | soce | zoze | oczs | s9z6 | 1526 | otz | rzze | cote | zers | v
srene | vz | w119z | owger | soes9 | eszys | vosow | wow | wm wee | ooz | smiz | s | sven | LU | TG | 4016 | 1EIE | STIE | 6606 | IROG' | 9906° | 60O6° | €06 | €'
6IW6T | weoeT | seevr | zotzz | mieks | cmoos | evorw | sosc| @ vioe | osoz | oorz | reen | oser | @ S106' | L66U | ORGE | OO | VR6X | SI6K | LOGH | BERN | O9RE | éos¥ | T
estsr | sizor | eivex | sworz | ostrs | ceorw | soesc | wmoc| u ssoc | 1997 [ eerz | zser | oset | @ OFSE | OISW | OGN | OLLY | 6OL¥ | 6UW | FOLY | 989F | S99T | (098" | 1)
ose9r | ovmevr | oeenr | oseoet | oweesw | esiwe | ovesoe | cooz 1 sorc | miet | rorr | sset | tocr | 1 1298 | 6658 | LLSW | PSSE | ICSE | SOSK | SBVE | I99R' | 8OV | CivE | Of
ssist | eorer | esvor | corsr | cose | eovre | wmssz | ssiz| e eore | wee | sere | owr | uer | o SBCF | SOCK | OEE | STCW | 6820 | W52F | SETN | TITE | ORIV | 65I% | 60
eseez | soonz | zeowt | omiewr | oaszee | tooez | a0z | wser . oste | rewe | worz | cewn | oocr | 6 O] 01T | 80w | 1506 | OO | -séec | Lokt | 6CL” | OleL | 188L | §D
w61z | osoor | owesat | ocosst | oszeer | cecrz | sowr | wed ' ssee | oexz [ socz | oot | corr | 2 TS | STRC | 6L | WAL | SO | voce | GAOL | TeSL | BISL | OfSL | L0
Loz | osevst | zio9r | zoovr | oszorz | sesor | oscrt | esso L oove | wosT | socz | sewr | sivi | ¢ OOSL | LIS | YR | WML | TTOL | 6REC | LSCL | WREL | M6 | ST | 9O
1323 1] 19 oyl 16571 %59l et 0TL80 $L90 . coce | evve | oovz | svst | omt 9 YL osiL FE1rA CTIL | asog oL | ST0L | SRE9 0569 | S169 | SO
o9t | smost | zeTn | oottt | wsern | zieso | evsso | 1ivo s ooy | sore | 1esz | sioz | vt | ¢ SOV | WY ) BORY- | LLLY |-9CLY | OOLY | 9999 | SE99' | VESW | 956¥ | VD
oon | serer | et | wmves | oico | wavo | wszo | soro H sorv | avce | sece | zeve L sssa | s 159 | o | cmo | oovo | wote | 1cey | coze | sszo | cree | suie | co
seRe1 | owonn | owvives | oomwe | osmisco [ owsizo | weiro | oo | € s | oy | e | esez | v |« 10ty | SO1Y | FSO) | 900V | L06F | bS5 | OGS | ALES' | TORE | cels | X0
sesol | fo1z6 | cece | wiées | szoro [ soso0 | tozoo | eto0 t st66 | 5969 | cory | 067 | 9swr | 2 (S5 | YIS | G095 | 9E9ST | 9655 | LSS | LIST | BLYS | SOV | R6LS | TO
6ege | 6ve99 | sczos | wivwe | 6tooo | eooon | toooo | sar 1 o519 | ewte | renr | vivo | moc | o 506 | 610¢ | eczs | 6ETs | 6615 | 0915 | ozis | ofos | ovor | 0005 | 00
s00° | 010" | szo° | os0° | os6 | si6 | 066 | s66 | wup s00° | 10° sz | so | or|w 60" [ 80" | Lo" | 90" | SO | ¥0° | €0° | T0" | 10" | 00 | *

el SR TR R g A WA R R (K ererd O yropefe
.
o -y d——y

| g !

wilslida! ¢ |

f

J

L

v

bt § 59 ot )] (et ybl

|n| “. * i m"



